iy

‘Ajuo 8sn wooisseo 1o} paidooojoyd aq Aepy "pr1 $824n0say [eoido] @

suol3sanp ooyl uspLIp Apjeap

s1omsuy

emmuolomam@ mm.&uoii.m@ o_uTE@ 008‘L = 0S X 09 o
|
€/1 =G + 598 YLOY, = Y%+ % 9°8L =2l + vy zZ= |06]|-z6
s¢) (o¢) (2] O
Y02'YTC = ¥/8'% X 9y 0S = / + 0S¢ %=%—-% | SCEI0YCE =59 X ¢
(ve) <) (91 O
89,8 =71 X 6zL _| 7 Uk T 0l T sl 006 =051 X | 9 9z = 01 + ,¥
@ ® 1) o))
SE = 8 X 2/ 091 = £/1 — €€ 18 = 06 0 %06 68 =1L+ |2l
7] (52 [+ o
706 = | €9 |x 8 [89°L = 657 + 8YZ°L €86 = /1L — 000°L %08 =+ Y,
(2 @ (c1) O
8y = 8¢ X %01 Ty =80+v€ L=67 X1 GZ=1X6Z
© ® D 0|
0z = v/ _ 0¢/ 6'L=Sv—-29 L0 = 9=v+ | %
L l cl
® ® 3 2
Z8L=29+Cl 6LS = /Y€ + Z/1 ¥16 = /87 X T ZL=9EXT
(5] @ (o] |

€2 X°99M 3 joog




